1.

e 2™AA x o 2715 9 A0

D 80° @ 90° ® 100°
@®)110° ® 120°

/(BAC = (180°-40°) +2="70°
. /x=180°-70°=110°




ve)
Q

O 40° @ 45° @ 50° @55° ® 60°

Lx = (180° — 70°) + 2 = 55°




3.

oS 183} 28 0ABCD 9|4 AB = BC,
/A = /C o]t} AB = 5cm, AD = 8cm € T, dABCD 9] &9
Hol=?

® 18¢cm @ 20em @ 22cm @ 24cm (B®)26 cm

AABC = o|5HAHZF o1 /A = ,C o]lBR
/DAC = /DCA, CD = AD = 8cm
- (B9 o)) = (5+8) x 2 = 26(cm)




S

AB=AC¢l o
“otod=f

=
=

Yt 2ol
W, 2x o] 27]

211

o}
o]
=

4.

50°

65°

ul
KO

65°

(180° — 50°) = 2

X =




<
N
T
=
O
m
<
e
N
~A
T
Hlo
o
o1
O™
_A B
[Ty
_B e
=<
5 —
R
ERCE
s
ojn 3
T ol

5.

40

2/x = 180° — 40° = 140°

SoLx =170°




6. o2 1"y Zo] AB = AC, /BAD = A
(CAD, /ACE = 110°¥ ©, «x 9 A7 & /A
“Fotofet,

110°
B———=

o

>
> F=gh: 20°

o] FHAIZ} Y 9] EX|Z}9] o] FEAL BHS A o] FESIER
/ADC =90°

AADC A T WZhe] 3t o512 o= 3t €7+ A7)+
Zovg /x+90°=110°°]t}.

uk2hA] zx = 20° O]t}




7. & 139 AABCo|A AB = AC, /BAD = /CAD Y dj, CD 9]

Zolet LADC 9] 27]E ook

A

>
>
> MEl: CD=7 cm
>

e /ADC =90 °




e

Q120 AABC ol 4]

(ABC = /ACB°]|22 AABC: o|5H Az o]t}

SLox=8

T, Q2Z0] AABC A

(BCA =180° - (30° + 75°) = 75°0] 2 & AABC = o|5H A}
Z}gg ot

. x=10

s (x9] dol 3H)=8+410 =18

oflh




9. U= ™A x o ol Fstoizt

(ACB = 70° °|E2 AABC & ©]5HA4Z g oIt
s x=4(cm)

ofl




10. th& 193} 2ol AABC 7F Fol RS W, x, y o] 7H2?

® x=6,y=50° @ x=7,y=45°
@xz?,y:50° @ x=17,y=65°
® x=8, y=50°

ofl

/ACB = 65° 0|22 AABC = o]SHAZIH o[t}
Lx=7
12831y =180°-65°%x2=150°




11.

t}. /BAC = 70°

® sABC @)/ACB ® (EAC

ZolE Aoz /BAC = /DAC = 70° o]t} /DAC =
(ACB (%1Z}) o]t}
wrabA] /BAC = /ACB o]t}




12, o 233 22 aABC °|A /B = «C & A
o, AC 2] Zo]&? serr,
I/I
” T~~7em--"" v
@ 4cem @ 4.5cm 3 )5cm
@ 5.5cm ® 6cm

AABC 7} o| Rz ol ng
AC = AB = 5cm




13. o2 a9 & AABC oA /B = /C & o, A
x 9] 3F2?

@® 35 @ 4 ® 45 @)5 ® 5.5




LA 9]

LSS
.

7} 22 AABC ©|A AD

2]
=
o|5HEAMol1l /B = /C =554, zx 9

1
2717

©
=

ot

14.

@ 75° ® 80°

@® 70°

Hlo

ol

Gh=h=1
/x =90° o]t}




15. o2 294 P =40° & 1, 2x ©] 27]+=7? (&, AP = AB = BC
)

@® 90° @ 95° @100° @ 105° ® 110°

~&B \

AAPB &= o|FHAIZYo|BE
(P = /ABP = 40°

(BAC = 40° 4 40° = 80°
AABC & o|zHAA ol 2=
(BAC = /BCA = 80°

o Zx = 180° — 80° = 100°




16. o= &AM x o] dol?

@ 5cm @ 6cm @70m @ 8cm ® 9cm

B

(BPC = 180° — 100° = 80° o] 2.2

ABPC + °|5H 42+

T /BCA = 180° — 80° = 100° °] 1L

/ABC = 180° — (100° + 40°) = 40° o] B2
AABC + o] 59 A449

w2kA AC = BC = BP = 7cm




17. o8& "84 AB =BO ]2 zOAB =20° & of, ,COD ¢ 37 &
“Foto et

iy
o

\VARR 4
0x
i

60°

/OBC = /OCB = 40° °]22 /BOC = 100°
£COD = 180° — (20° + 100°) = 60°




18.

oh2 193 Zo] Haloh AABC = ©®
E A D
E 5 N
C__——.l
> =
> g

2t /BAC = /ACB °|22 AABC + o547

ofl

olt}.




19. the T3} Zo] Bo] YA Fol Hlo| LT HYTh. /ACB = 50°
o o, /x 0] A7)

@® 45° @ 50° ® 55° @ 60° @65°

Zo] glo|Z2 H oW /ABE = /ABC = /x0|1L
(ABE = /BAC = /x(9Z})

AABC 9] Y7+9] 9E2 180° 0| B &

oo 2/x+50°=180°

/x =65°




20. o ™Y o] PQ
Aol QR I} FhbE= A

P
Q
Z
R
O PQ=PZ (@)APZQ:APZR
® PQLPR @ QR =QZ

® (PRZ = (PZQ

@ o|5WAZ G| BA o] o] FRAL WS S o5 R}
Bz
/PZQ = /PZR = 90°




21. o I¥F Zo] AB = BCl oI5 HAZAE ABC7F 3l W, 2x+ 2y
o] 2717

A 95°

@ 70° @ 80° (@)90° @ 100°  ® 110°

(x¥E [BE o|5EF zto]B2 /CBP ¢} 2t}
ACBP oA £x9} 2y ] @2 180°01A /BPCS M A} 2t
“ Lx+ Ly =180°-90°=90°




22.

A
B D
@AAzéB @ BD =CD

® /ADB = /ADC

B




23. e A7 ABC oA AD = CD, AB = 6cm ©]12, ZACB = 30°
d o, x o Hol=?
A
60’n’1
]
1
B S 30 aNe
~.z.D___ _

@ 4cm @ 6cm ® 8cm @ 10cm (@)12cm

~&B

/A 30
GC;/S%?A\N
1

AB0° 607 307N

P 6em-"D 6em-"

ADCA oA o] TRl & 228 277t goeusw
/DCA = /DAC = 30° °|t}.

/ADB = 60°, /DAB = 60°, ZABD = 60° °|2 2 AABD &
Harzreolet,

wbA AB = BD = AD = 6cm ©]2 2 DC = 6ecm ©|t}. what
A x =12cm ©|t}.




AABC A /B = olmg
/PBC =) Jx B = 3 x [0 |=[h ]
utebA APBC & ott.

Oh ~ @poll Eo1Z Aoz 4 gL ALY

@ pj .C @u 2
® @ «C @ @) ,PCB

© @) ol sHHAR

B

AABC 94 /B = («C)olBE=2
1 1
(PBC = (§> x /B = 3% (4C )= («PCB)

wretbA] APBC &= ( ©l58AZE ) ot




25. o2 13o|A AB = DC,AC = DB 181 /BOC = 84° ¥ 0,
(OBC °] 271 st}

A D

i
o

[ 2
> HEh: 48°

AABC = ADCB (SSS %)

(ACB = /DBC

m2kA AOBC + ©]-5HAZ g ot
- LOBC = (180° — 84°) + 2 = 48°




